\

g
T3
iy
g%
I

1. ¥4
EHL T SR TR N 22 h T R 2
BT AT VR RN T 4% 55 (WEEEFEITEN)

2. ¥HENRE

1) FHEI4

2) JEATHIM

S 6% TH25H
S 65E12A27H

3) WErEMA

4) EHBNE

EtrEE T R



T NER &=

Tl
P

¥4 | WEIEIEFEBITENZE GRS ER ¥ Hi WEES
H H M
B E I % i 3 B {7 & #A R
HAe & =X 29, 629, 413
Ze h R & =X 5,503, 881
E=1-1 X 4,471,441 | (T T HN)
(226
H2 T sl e OV R 3 = 1,032,440 | FE5E SN
5
[i] IRy A
226
FfEX1E = 3, 303, 000
4 = 3,303, 000 | Bl
1.
L~UL1, 000
WiZe v —1 & 2V 17, 758, 085
Mize L —v = 17,758, 085 | fifiZe L — V& (M1 [X| 1 EvA" #1000)
(166. 4
FORF I i = 3, 064, 447
F R VFIL Y i = 3, 064, 447 | $fEHIEE T VAR
226
v B VERR
226
DS g
226
JtiE = 238, 950
Bi i = 238, 950
a5 = 238, 950 | fT&+H
-1 - [E 238 T s i




Q/Elljll
I

¥04 | WHEEEEGITEN fth 275 ER i BIEER
H H BLsii]
B E I % i 3 B {7 * & #A OB N R
1 =
B =X 292, 926
[EREE 3 =X 292, 926
BB =X 122,926 | ficte (FEitLE - Em1RE)
1 A
%%E}Z%lﬁlﬁzﬁk% it: 170, 000 %%Eﬁ%%f’?ﬁi%
1 =
B PRy = 4,277, 866
Hoffr i gy = 4,277, 866
R oy 4,277,866 | FRSME 2
1 =
(X3 he = 34, 439, 155
EiEEFed = 17, 730, 845
EAtSa =X 17, 730, 845
WM oy 52, 170, 000
-2 - [E 238 T s i



